SELF-ASSESSMENT: RSPT 1060 — Module A-6

FORMULA: FIND: SHOW YOUR WORK:
1. | AXB=C/D A
AxB C 1 AxB C 1 C
=— —X =—X— A=——
1 DB 1 D B DxB
2. | AXB=C/D B
AxB C 1 AxB C 1 C
=— —X =—X— B =——
1 D A 1 D A DxA
3. |AXB=C/D C
C_AB D C_AXB D _paxB
D 1 1 D 1
4. | AXB=C/D D
D C D 1 C C
— = Invert —x —= Xx— D=
C AxB 1 ¢ AxB 1 AxB
5. | A/IB=CXD A
A
Pyt B _
XB—CXDXA A =CxDxB
6. | A/IB=CXD B
B 1 A B 1 A A
—=——Invert — x—=——x— B=——
A CxD 1 A CxD 1 CxD
7. | A/IB=CXD C
CD:—l CxIZ):Axl = A
B D BxD
8. |A/IB=CXD D
CxD:éix@xD:Ax— =L
B C B C BxC
9. |[A/B=C/D A
B A C B CxB
1 B D 1 D
10 |A/B=C/D B B D A B D A DxA
—=—Invert — x—=—xXx— B=——
A C 1 A C 1 C
11 |A/B=C/D C
C AD C A D AxD
—=— —X—=—X—C=
D B 1 D B 1 B




12

A/B=C/D

B D C D B C BXC
~=ZInvert = x—=—x—- D=2
A C 1°¢ A1 A
13| AXB=CXD
lexB :CxDxl A:%
B B B
14 | AXB=CXD
ixAxB=CxDxi B=CX—D
A A A
15| AXB=CXD
' CxD = AxB - xCxD = AxBx — c = AXB
D D D
16 | AXB=CXD
CXD = AXB = x@xD = AxBx = D = AXB
C C C




